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PART—I
( LANGUAGE )

Directions (Q. Nos. 1 and 2) : Fill in
the blanks with suitable articles like

5. Rainy season comes before

A .
‘a’, ‘an’ and ‘the’ : (A) winter
(B) spring
1. There are 30 or 31 days in
(C) summer
month.
(A) the (D) More than one of the above
B) a (E) None of the above
(C) an
(D) More than one of the above 6. The eighth month of the year is
(E) None of the above A) July
2. My father is engineer in (B) September
the Water Works Department. (C) October
(A) the
(B) an (D) More than one of the above
(C) a (E) None of the above

(D) More than one of the above

(E) None of the above 7. Sister-in-law is

3. Which of the following is a part (4) husband’s sister

of bedroom? (B) wife’s sister
(A) Pillow

(B) Table lamp

(C) Curtains

(D) More than one of the above
(E) None of the above

(C) brother’s wife
(D) More than one of the above
(E) None of the above

8. Cousins are
4. Which of the following is a part

of a room? (A) maternal

(A) Window (B) paternal

(B) Ceiling (C) siblings

C) F1

(C) Floor (D) More than one of the above
(D) More than one of the above

(E) None of the above (E) None of the above
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9.

10.

11.

12.

‘Ftét’ weg # w-w w@s R?
(A) FeFaTE G

(B) Sifererr=res &=

(C) wTeaT=I BT

(D) 3wtk # & T § enferen
(E) 3w & & 18 7t

fferfiad wsdl § & FH-w1 TehawH 77
(A) TEER

(B) BFm

(C) =g

(D) 3w U | UH A Al

(E) 3w & & 18 7

fe=dt vl § ‘g’ w1 A fRg Ao %
o8 A1 2°

INBEERE IS

(B) I o 9

(C) = % 94T

(D) 39w H ¥ TH ¥ M
(E) 3w & & 18 7t

‘ot 7' gwaE 2, 38 a3\
AR | -1 T 27

INBREEREIEES

(B) TEeam®

(C) gruaT=h

(D) 39w | ¥ TH ¥ M
(E) 3udth # & 1S T
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13.

14.

15.

16.

oo =61 g g - TE R
(A) sTETETHe forRreor

(B) U= fergrem

(C) ufwTET fergmor

(D) 39w | ¥ UH ¥ M+

(E) 3udth # @ 1S T

frfefaa & & F=-1 3735 7ee 27
(A) dvew

(B) FH

(C)

(D) 39w | ¥ UH ¥ M+

(E) 3w & @ 18 7

frfafaa 9 @ &F-81 g Fd- aren
MR

(A) &b

(B) &=

(C) =TT

(D) 39w W | TH § Afh
(E) 3udth # & g T

frfefiga & @ =-a1 “qom’ e 7
(A) R

(B) w®

(C) =%

(D) 39w W | TH § Afh

(E) Sudth # & #1$ T

[P.T.O.



17. Tfafad § & wm-w1 foesft s &7

18.

19.

20.

(A) =T

(B) wiieEn

(C) =m

(D) 3w & ¥ wh @ Afeek
(E) 3w & & 18 7t

=T % R WA 3sa] & @e g
8 3% FH-91 I el AT &7

(A) w3

(B) i

(C) InTEg

(D) 39w H ¥ TH ¥ M
(E) 3udth # & #1$ T

frfafaa @ 4 fra o 0 ‘edw
fop” 27

(A) 38 Ta TR |

(B) fetert et 21

(C) ¥a% & | TR 9T 2|

(D) 39w | ¥ UH ¥ M+

(E) 39tk # & 1S T

freferfad & & F-1 39 wTeg 27
(A) mEmr

(B)

(C) waw

(D) 39w | ¥ TH ¥ M

(E) Sudth # & #1$ T
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21.

22.

23.

24.

ffafias & @ F9-T1 T ®¢ s
& &7

(A) <R

(B) SIHRI

(C) wefd

(D) 39w U | UH A Al

(E) 3wt § @ #1g T

‘@i’ fope a1 Tee 87
(A) el

(B) Wt

(C) ol

(D) 3uYh H § TH ¥ Al
(E) 3w & @ 18 7t

IE X IME T B HH-a1 TH T
g &7

(A) HIEATRHI—RIHr

(B) g—P2

(C) WTRTH—HETH

(D) 30w W | TH § Afh

(E) 39tk # & #1$ T

“Ioem afos SSEd 2 T o9 ®
Eifehd wsg I g AT hi-HT B7

(A) S

(B) $sc

(C) 3saa

(D) 3w U | UH § Afh
(E) ST 4 4 & 7

4 [UREn e



25. UF B2 IMHd 1 THhIAT o, S A

26.

27.

W forefl fog 1 feufa =1 w18 e g,
3W 1 HEd 87

(A) FER

B) fm

(C) wTe

(D) 3w W | TH § Al
(E) 39w | & &g T

‘FFEF o G HT FT TH 27
(A) =Thaly

(B) =R uigeh

(C) Hfvrcfieror 70

(D) 39w | ¥ TH ¥ M
(E) 30 § & =+ T

“Srarer B are e |
gId g3 Heeld, Sig-arg &g Ma |l

I HTI-UTRAT T HH-91 T 27

(A) Fm

(B) ®

(C) daTced

(D) 39w | ¥ TH ¥ M
(E) 39w # & &8 7
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28. &= Wil % 3gWE &1 el HHT ST 2

29.

30.

(A) 500 3o go

(B) 500 %o

(C) 1000 3o

(D) 3 U | UH A Afh
(E) 3w & @ 18 Tl

e A b 1 B e 4 G B =i
fetrfem, wnfimrt vd g gfas Ame @6t
EZdRIRI

A) diRafera

(B) ¢fiem

(C) R vura

(D) 39w W | TH § Afh
(E) 3udth # & 1S T

o wedl W fom, a=H, R # owE
9 9 U2, 9 FEAd &

(A) ==

(B) o=t

(C) Afrrdt

(D) 39w | ¥ TH ¥ 3=
(E) 39w # & &8 T

[P.T.O.



31.

32.

33.

PART—II
( GENERAL STUDIES )

The floor of a rectangular hall
has a perimeter 250 meters. If
the cost of painting the four
walls at the rate of 10 per
(meter)? is € 15,000, then the
height of the hall is

(A) 7 meters

(B) 16 meters

(C) 6 meters

(D) More than one of the above

(E) None of the above

Which of the following
statements is not true?

(A) Every natural number is a
whole number.

(B) Every integer is a whole
number.

(C) Every natural number is an
integer number.

(D) More than one of the above
(E) None of the above

The average of 7 consecutive
numbers is 20. The largest of
these numbers is

(A) 20
(B) 21
(C) 23

(D) More than one of the above

(E) None of the above
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34. The equation ax?+bx+c=0 has

35.

two distinct real roots, if

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) More than one of the above

(E) None of the above

Mohan can do a bit of work in
25 days which can be completed
by Sohan in 20 days. Both
together labour for 5 days and
afterward Mohan leaves off. How
long will Sohan take to complete
the remaining work?

(A) 20 days
(B) 11 days
(C) 14 days

(D) More than one of the above

(E) None of the above



31.

32.

33.

PART—II

( GENERAL STUDIES )

T IAAHR B & B hl IRy
250 Hier g1 gfe & 10 ufa o e
WY I AaE U = H A
¥ 15,000 2, a1 gt il ST 8

(A) 7 Hi

(B) 16 #ix

(C) 6

(D) 39w H ¥ UH ¥ M+

(E) 3w d ¥ =I5 T

fefafga & @ FH-w1 w9

T 27

(A) T WTHd WA, TH 0w B

(B) Yk qUIieh, Teh qUT G B

(C) Y% UIHd €&, TH YUl
e 2|

(D) 30w W | TH § Afh

(E) 37d & & 18 T

7 HHATG AT 1 3fEd 20 21 TH
Y oy 99 O ©

(A) 20

(B) 21

(C) 23

(D) 39w | ¥ UH ¥ M+
(E) 3udth § & #1$ T
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34. T F0 ax2+bx+c=0 % d fiE

35.

rEdfae ge i, Al

(A) b%-4ac<0

(B) b%-4ac>0

(C) b%-4ac=0

(D) 3w U | UH A Al

(E) 3w H © %18 T

e 25 T # uh wm 9 e B
@ @ 20 f it & 9u s wehar 2|
Al U |y 5 Tt & fou o a2
3R 3Gk 18 Higd H BIS ol gl AT

F P QU A H died Hl o am
Y

(A) 20 f&
(B) 11 f&
(C) 14 f&
(D) 3w W | TH § Al

(E) 37 & & 18 e

[P.T.O.



36.

37.

38.

If X=a°-b?
a+ b =15, then

Y =30 and

(A) X is lesser than Y if a=b
(B) X is greater thanY ifa> b
(C) Y is greater than X ifa=b
(D) More than one of the above

(E) None of the above

The probability of a non leap
year selected at random will
contain 53 Sundays is

1
(A) =
2
(B) =
1
(©) =3

(D) More than one of the above

(E) None of the above

If 7126 = 493x+12 " then the
value of x is

A) 3
(B) 4
C) 7

(D) More than one of the above

(E) None of the above
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39. Myopia is a disease in which a

40.

41.

person cannot see
(A) distant objects clearly
(B) nearby objects clearly

(C) nearby as well as distant
objects clearly

(D) More than one of the above

(E) None of the above

The term ‘heredity’ chiefly refers
to

(A) anatomy

(B) meiosis

(C) genetics

(D) More than one of the above

(E) None of the above

in which food is
packed are coated with tin and
not zinc because

The cans

(A) tin is more reactive than
zinc

(B) zinc is more reactive than
tin

(C) zinc is costlier than tin
(D) More than one of the above

(E) None of the above



36.

37.

38.

afs X =a?-b?,
a+b=157%,

A) XBizYydaaka=hb

Y =30 du=@

(B) Xagig Y@ARa>hb
(C) YSeig X¥aa=h
(D) 39w H ¥ UH ¥ M+
(E) 3w & @ 18 7t

gfoa® €9 ¥ FH T TH - a9 |
53 oaR g4 =t TiReRar 8

1
(A) =

(B) =3

1
(©) =3
(D) 30w W | TH § Afh

(E) 3w | ¥ 18 e

-qﬁ 712X+6 — 493x+12 —Eﬁ, ?ﬁ x &1
GIChd

(a) 3

B) 4

(C) 7

(D) 3w W | TH § Afh
(E) 3udth # & #1$ T
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39. wEifuan T sw g, e whte @

40.

41.

EERICIR

(A) T H L T ¥ Y

(B) U il IEIE TE €Y Y

(C) T8 & qT T I U T &9 H
(D) 39w | ¥ TH ¥ M

(E) 393t o & 18 T

‘SEfERdT Y gEd w9 ° fRg
Hafilq st 27

(A) IRR-T=AT

(B) regEht favsH

(©) st

(D) 3w ® § TH ¥ fh
(E) 3udth § & #1g T

o fesai & @ ¥ fom San g, A
R fo & wa = Bt & 7 R 5w A
FifR

A) fH, & H g # Al
fefsramefier

(B) T, &7 & gam # Afees
fefspramefier

(C) 5=, fmaweme
(D) 39w U | TH § Al
(E) 37 & ¥ 18 e

[P.T.O.



42. The process in which 44.

atmospheric carbon dioxide is
converted into carbohydrates
during photosynthesis is

(A) oxidation

(B) reduction

(C) hydrolysis 45.

(D) More than one of the above

(E) None of the above

43. The quality of a printer is
determined as

(A) words per inch

(B) strike per inch

(C) dots per inch

(D) More than one of the above

(E) None of the above

46.

Trachoma disease is related to

(A)
(B)
(C)
(D)

(E)

lungs

ears

eyes

More than one of the above

None of the above

Which of the following makes
use of Newton’s third law of

motion?

(A) Archery

(B) Space rocket

(C) Venturimeter

(D) More than one of the above
(E) None of the above

Particles which can be added to
the nucleus of an atom without
changing its chemical properties

are

(A)
(B)
(€)
(D)

(E)

neutrons

electrons

protons

More than one of the above

None of the above
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42. g Yihar, ad Tme-wvame & SH

43.

IYE TAT wEA SEATFERS  H
Fratergee § giatdd o Sar g, 2

(A)  ATereTeRToT

(B) 1q==A

(C) STeft-forgereoT

(D) 39w H ¥ UH ¥ M+

(E) 3T | ¥ *18 e

wF e & o frea fetfa d
STt 27

(A) e ufd 3=

(B) WER Ui ¥

(C) forg wfa &=

(D) 30w W | TH § Afh

(E) 37 | ¥ 18
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44, HET T H qER 7

45.

46.

(A) wwEt @

(B) &M ¥

(C) =At@i @

(D) 39w | ¥ TH ¥ M

(E) 39w & & &g T
frefefaa & & F-a = % T
ek fw o1 3T T 87

(A) e

(B) 37afted Wehe

(C) e

(D) 3w W | TH § Al

(E) 3udth # & 1S T

O o I SaREfid T@d ge T
TIHTY] o AT | SIS ST aTet T §
(A) =g

(B) FwgH

(C) Wi

(D) 39w | ¥ UH ¥ i

(E) 39w # & &8 7

[P.T.O.



47. Before Elon Musk announced

48.

49,

change of the signature Blue
Bird logo to Sign X’ logo, who is
regarded as the creator of
Twitter’s iconic Bird in its final
version in 20127

(A) Jack Dorsey

(B) Martin Grasser

(C) Noah Glass

(D) More than one of the above

(E) None of the above

Who is the Director of the
famous film Oppenheimer, a film
about high-concept
released this year?

science,

(A) Christopher Nolan

(B) Guy Ritchie

(C) Laura McGann

(D) More than one of the above

(E) None of the above

Which one of the following has
pulled out from hosting the
2026 edition of Commonwealth
Games due to huge estimated
expenditure on its organization?

(A) London, UK

(B) Kuala Lumpur, Malaysia
(C) Victoria, Australia

(D) More than one of the above

(E) None of the above
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50. What is the full form of INDIA, a

51.

recently formed alliance of
opposition political parties?

(A) Indian National Develop-
mental Inclusive Alliance

(B) Indian National Develop-
ment for Improvement
Alliance

(C) Indian National Develop-
mental Inclusive Associa-
tion

(D) More than one of the above

(E) None of the above

What message was sent by
Chandrayaan-2 lunar orbiter to
Chandrayaan-3’s lander module
when it established contact with
it in August 20237

(A) “Welcome home”

(B) “Chalo
chalein”

chand ke paar

(C) “Welcome, buddy”

(D) More than one of the above

(E) None of the above



47. TEH W FN MUR & 98 @rn @

48.

49.

TRt X A o =F Y uEd,
2012 ¥ 1 AfH "eRor H g %
yiafsd =< % i & &9 # fra A7m
I

(A) S et

(B) wféT ame

(C) eI T&@E

(D) 3w U | TH A Afh
(E) 3udeh # & 1S T

30 a4 ellsl g8 I=-3auron g™ &
IR § yttg fhen “afioeem’ & v
HH 87

A) e TeH

(B) s =t

(C) < B

(D) 39Y® | ¥ TH ¥ M

(E) 3w & 9 18 T

Freafafaa & @ fFoa w51 welt &
2026 TR H ASEHT F THh
FRSH W 9 STFATHG 2T o R0
IO A AT9E o forn 87

(A) @&, Fo ho

(B) FAAR, AARTN
(C) foertfeam, sitefern
(D) 39w H ¥ UH ¥ M+
(E) 3udth # & 1S T
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50. g g # od fquefi usHifas e &

51.

13 (R

T INDIA %1 qUiEq -1 37

(A) 3T THA STUHeA  EME

AATTH

(B) 3fead JvHd STcUHE HR IHEHE
FATH

(C) e THE Sa@uHeA  IFd
LEIELE]

(D) 39w | ¥ UH ¥ i+

(E) 37 & & 18 e

A 2023 § T wEAE-2 Wg
e T I5AH-3 & ik uiegd o

groes Tefud R, df 3EY 39 T EeW
AT oY

(A) “Sorwm T

(B) ‘=it =g % ur =t
(C) “‘ScTewm, Tt

(D) 39w H ¥ UH ¥ M
(E) 39w # & 18 T

[P.T.O.



52. Name the former President of

53.

54.

China who crushed the pro-
democracy movement in 1989.

(A) Mao Tse Tung

(B) Yang Shangkun

(C) Jiang Zemin

(D) More than one of the above

(E) None of the above

Who has elected for the second
term as Ireland’s Prime
Minister?

(A) Sanna Marin
(B) Robert Abela
(C) Leo Varadkar
(D) More than one of the above

(E) None of the above

African Union was made a
permanent member in the G-20
Summit held in India. Who is
the Chairman of the African
Union?

(A) Azali Assoumani

(B) Justin Trudeau

(C) Ursula von der Leyen

(D) More than one of the above

(E) None of the above
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55. As per geographical area,
arrange the following physio-
graphic units of India in

56.

ascending order

1. Central highlands
2. Great plains

3. Coastal plains

4. Northern Mountains

Select the correct answer using
the codes given below.

A 3,1,2,4
B 1,2, 3,4
< 2,4,1,3

(D) More than one of the above

(E) None of the above

Arrange the following ranges
from North to South in
sequence :

1. Ladakh

2. Karakoram
3. Pir Panjal
4. Zanskar

Select the correct answer using
the codes given below.

A) 1, 3,2, 4
B) 2,1,4,3
< 3,4,1,2

(D) More than one of the above

(E) None of the above



52.

53.

54.

1989 U dlhasl Gwde IT<Icd i

FaeH ard FH1 % 99 Ugafd w AW
fefiam |

(A) ST & g

(B) = WA

(C) fomrm Siftm

(D) 30w U | TH § Afh

(E) 3udth # & 1S T

APRSlE & TAEEA F ®T OF g
FrdeRtet & fore fordr gm e 27

(A) &= wH

(B) e el

(C) fort strga

(D) 39w | ¥ UH ¥ M

(E) 3udth # & #1$ T

IRa # TG si-20 R awes d

FER Y Rl TR ¥ ST T
TR G5 % 7L Hi 87

(A) T e

(B) et g2t

(C) 3G aH X TH

(D) 39w | ¥ TH ¥ M
(E) 39w # & &g 7
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55. WFlifeh &% & gaR, 9Rd &

56.

15 (RO

FfaRaa e (Tefsammtes) st
1 TR ¥ H ATEd HIT :

1. s =9
2. HgH AeH
3. W HeN

4. 398 v
f= fow T g W oW W EE W
el

A) 3,1,2, 4
(B) 1,2, 3, 4

(C) 2,4,1,3

(D) 39w | ¥ UH ¥ M
(E) 3udth # & 1S 7

frefaitaa aftml = s @ <y i
3N A | HAEId il

1. o€
2. THHIA
3. R U~

4., SR
= fau MU Fe W O W AE IW
Tl

A) 1,3,2, 4

B) 2,1, 4, 3

(C) 3,4, 1,2

(D) 39Y® | ¥ TH ¥ M
(E) 3udth # & #1$ T

[P.T.O.



57. During the monsoon season in

58.

59.

India, most of the cyclones have
their origin

(A) between 8°N and
latitude

13° N
(B) between 10°N and 15°N

latitude

(C) between 16°N and 21°N
latitude

(D) More than one of the above

(E) None of the above

Which of the following areas is
not landslide-prone area?

(A) Western Ghats

(B) Eastern Ghats

(C) Himalayan Regions

(D) More than one of the above

(E) None of the above

Which of the following coasts of
India is most affected by violent
tropical cyclones?

(A) Malabar

(B) Coromandel

(C) Konkan

(D) More than one of the above

(E) None of the above
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60. When

61.

62.

running water cuts
through clayey soils and makes
deep channels, they lead to

(A) gully erosion
(B) sheet erosion
(C) deforestation
(D) More than one of the above

(E) None of the above

Which of the following receives
heavy rainfall in the month of
October and November?

(A) Hills of Garo, Khasi and
Jaintia

(B) Coromandel Coasts
(C) Plateau of Chota Nagpur
(D) More than one of the above

(E) None of the above

Cultivation of fruits and

vegetables is called

(A) floriculture

(B) agriculture

(C) horticulture

(D) More than one of the above

(E) None of the above



57. WRA H AEd disq H SRR Fghardi

58.

59.

1 et 2l @

(A) 8° 3o 3R 13° Jo AL & HEA
(B) 10° 3o 3T 15° 3o ALY & Te
(C) 16° 3o 3 21° o H&TIT & HeA
(D) 3w ¥ ¥ % ¥ Al

(E) ST | 9 =5 T

frafafaa @i 4 ¥ FH-91 yEEen-
YT () T 27

(A) ufyet =

(B) et =

(C) femerft &

(D) 374w # ¥ T & e

(E) 304 & & rg 7
Fafafad 4 9 ara =1 ®H-91 92 3
IUEHRES T whATal § Hew 3k
g 7

(A) FEER

(B) HRmSA

(C) =highul

(D) Sugth @ | TH W Aferh

(E) S H @ i3 T
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61.

62.
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(B)
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63.

64.

65.

66.

Who provided leadership in the
districts of Patna, Ara and
Shahabad during the Revolt of
1857 in Bihar?

(A) Raj Kumar Shukla

(B) Namdar Khan

(C) Kunwar Singh

(D) More than one of the above
(E) None of the above

The Partition of Bengal was
made effective on

(A) 14 October, 1905
(B) 15 October, 1905
(C) 16 October, 1905
(D) More than one of the above
(E) None of the above

The Quit India Resolution was
adopted by the Congress in
Bombay on

(A) 7 August, 1942

(B) 8 August, 1942

(C) 9 August, 1942

(D) More than one of the above
(E) None of the above

The British ruled India for a long

period due to the

(A) liberal
Congress

policies of the

(B) imprisonment of Indian

leaders
(C) policy of Divide and Rule
(D) More than one of the above
(E) None of the above
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67.

68.

69.

70.

Queen Victoria’s Proclamation

was issued on which of the

following dates?

(A) 1 November, 1857

(B) 27 March, 1858

(C) 1 November, 1858

(D) More than one of the above

(E) None of the above

Which of the following

statements is/are correct?

(A) Raja Rammohan Roy was
the pioneer of modern

education.

(B) Swami Dayanand
proclaimed India for
Indians.

(C) Vivekananda participated in
the Parliament of World
Religions.

(D) More than one of the above

(E) None of the above

Who among the following

became India’s unofficial

Ambassador to England?

(A) Surendranath Banerjee

(B) Dadabhai Naoroji

(C) Swami Vivekananda

(D) More than one of the above

(E) None of the above

Who described the Government

of India Act, 1935 as a ‘Charter

of Slavery’?

(A) Mahatma Gandhi

(B) Netaji Subhas Chandra
Bose

(C) Maulana Hasrat Mohani
(D) More than one of the above
(E) None of the above



63.

64.

65.

66.

foer #1857 &t wifd & SRH e,
AW R wmerEe et § R Aga
T fera?

(A) TSIHHAR LTt

(B) -WER @f

(C) Fr T

(D) 39w H ¥ UH ¥ M+

(E) 37 & & 18 T

A o favrse gwrelt g
(A) 14 TR, 1905 =i
(B) 15 3mEeR, 1905
(C) 16 3R, 1905 =
(D) 39y H ¥ TH ¥ M
(E) 3udth # & 1S T

TS H HUE g WG Drel T 9™
IERIRIE

(A) 7 3T, 1942 =
(B) 8 T, 1942 @i
(C) 9 3T, 1942 =i
(D) 30w W | TH § Afh
(E) 3wt § & 1S T

US4 WG T o o9 deh U9 hdl
fepam?

(A) =G it graTEl Fifadt & FHror
(B) et Jared s TRt & sror
(C) ‘afer 3R us A i Hifa & FHwor
(D) 39w H ¥ UH ¥ M+

(E) 3udth # & #1$ T
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67. ffafaa & & frm fafy =

68.

69.

70.

19 [EHANA0TR0 RO

foaeifen i 3gamon S g7
(A) 1 7FawR, 1857
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(D) 39w | ¥ TH ¥ M
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(D) 39w | ¥ UH ¥ M+
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T U T Tl H 9RA % SRR
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(A) Gl s

(B) =TS TRt

(C) Tt faaems

(D) 39w | ¥ TH ¥ 1M

(E) 3t # & 1S 7
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(A) W et

(B) TS GuTY =5 9

(C) IS Zoxd Wrem

(D) 39w W | TH § Afeh
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71.

72.

73.

PART—III

( ECONOMICS )

Economics is the study of

(A) ways to reduce want to
eliminate the problems of
scarcity

(B) the choices we
because of scarcity

make

(C) the distribution of surplus
goods to those in need

(D) More than one of the above

(E) None of the above

The slope of
possibility curve is

production

(A) concave to the point of
origin

(B) convex to the point of origin

(C) a straight line

(D) More than one of the above

(E) None of the above

What is
isoquant?

constant along an

(I) Level of labour
(I) Level of capital
(A) Only I
(B) Only I

(C) Depends on situation of
isoquant

(D) More than one of the above
(E) None of the above
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74. If the consumer income
declines, then the demand for
(A) normal goods will increase
(B) inferior goods will increase
(C) superior goods will increase
(D) More than one of the above
(E) None of the above

75. The elasticity coefficient for
perfectly elastic demand curve is
(A) zero
(B) one
(C) infinity
(D) More than one of the above
(E) None of the above

76. Who basically propounded the
concept of law of equi-marginal
utility?
(A) Marshall
(B) J. S. Mill
(C) Gossen
(D) More than one of the above
(E) None of the above

77. Which of the following is not
a determinant of supply?
(A) Demonstration effect
(B) Expectations about future

prices
(C) Policy of taxation
(D) More than one of the above
(E) None of the above
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71.

72.

73.

PART—III

( ECONOMICS )
srofere forEeRt s1eTe 27 74.
(A) GEiwdT T HEERT W R HH o T
SATAIHAT FH A & TN T
(B) 3AYAT % HRU BH 51 fohed g
2 3R

(C) Sawal 1 AR TG %
oo =t

(D) 30w W | TH § Afh
(E) 3w & © 18 T

IcqTE GUTEAT 9% g 2
(A) T forg & Fema

(B) et forg % 3ot

(C) T Hieft @

(D) 39w | ¥ UH ¥ M+
(E) Sudth # & #1$ T

Teh GHICITE o |1 T Teren 27
() =¥ & &R

(1) ISft =1 TR

(A) wad I

(B) had II

(C) TwIaare i feufa w ffk &
(D) 39w | ¥ UH ¥ M+
(E) Sudth # @ 1S T
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75.

76.

77.

Ffe IqwIehl sl 3 feet g, @
(A) @ FEgeT S "M et
(B) frpe segatt i @i werht
(C) HEa FEGAT 1 [rT T
(D) 3w ¥ ¥ T ¥ 3nferen

(E) 3w & @ 18 7t

i @EER " a% % fau de
T ©

(A) A

(B) T

(C) =

(D) 39w | ¥ TH ¥ M

(E) 3w & & 18 7t

Hora: forer gu-dmma 3wt fem
1 feafea feam om?

(A) HTEia

(B) So THo fia

(C) Tied

(D) 39w | ¥ UH ¥ M

(E) Sudth # & 1g T

frefafaa § @ #F-u1 gfd = fufe
& 77

(A) Yeuf gaE

(B) wfoe & geai o Ufd ame

(C) =R & fifa

(D) 39w | ¥ UH ¥ M+

(E) 3udth § @ 1$ T
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78. An iso-cost line will be shifted

79.

80.

further away from the origin

(A) if the prices of both inputs
increase

(B) if the total cost increases

(C) if there is an advance in
technology

(D) More than one of the above

(E) None of the above

The producer is not at
equilibrium when MC>MR
because

(A) profit can be increased by
producing more

(B) loss can be increased by
no production

(C) benefit is less than cost
(D) More than one of the above
(E) None of the above

In the law of variable
proportions, where is the point
of change of trend?

(A) Where total product starts
increasing at a decreasing
rate

(B) Where total product starts
decreasing at a decreasing
rate

(C) Where total product starts
increasing at an increasing
rate

(D) More than one of the above

(E) None of the above
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81. Rent for warehouses is a
component of what cost?
(A) Prime cost
(B) Production cost
(C) Distribution cost
(D) More than one of the above
(E) None of the above

82. Which one of the following is
a typical example of pure or
perfect competition?
(A) Railway
(B) Stock market
(C) Video gaming
(D) More than one of the above
(E) None of the above

83. Which of the following is not
a type of market structure?
(A) Perfect competition
(B) Oligopoly
(C) Competitive monopoly
(D) More than one of the above
(E) None of the above
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78. TH GH-ATT @1 A T § AT off

79.

80.

TG o & SRt

(A) e IET AT P Y e &
(B) e et e sgdi @

(C) fe dehften o Wil Bt B
(D) 3w U | TH ¥ Al

(E) 3udth § & 1g T

3care® MC>MR Rufa § ggem # &
BT 8 H(Th

(A) e IcaTeT FEh AT H TG
ST HehdT 2

(B) 3cUTGH < Lk BT I F@HT I
Tl 8

(C) < NTd | W Bt &

(D) 39w H ¥ UH ¥ M+

(E) 3w 8 © *1g Tl

ufEdaefia egumal o fem #, g
uftard 1 forg et 27

(A) &l P I8 Tl T A Tl P&
I

(B) W&l Fot 3cUTE Hedl X A HeAT IE
B &

(C) &l T IR Tt X | TG T
I

(D) 30w W | TH § Afh
(E) 37 & ¥ 18 e
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81.

82.

83.

el w1 R TR @A w1 T
HeF 27

(A) T&H wTTa

(B) Scdre omTd

(C) oz v

(D) 39y H ¥ TH ¥ M
(E) 3udth # & 1S T

ffafaa & @ #F-a1 w yg @ o
it TSI <1 3eTet 27

(A) Yo

(B) ¥ IR

(C) difean Afim

(D) 39w W | TH § Afh
(E) 39 o & I8 7

Fefafaa & 9 FH-91 T SR S=E
o ey TE 27

() f IR

(B) TcUTIHR

(C) ufcreaeff wshTferpr

(D) 39w H ¥ UH ¥ M+
(E) Sudth # & #1$ T
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84. Which of the

85.

86.

following
statements about a monopoly
is false?

(A) A monopoly has no barriers
to entry or exit.

(B) A monopoly is the only
producer of the good.

(C) The good produced by
a monopoly has no close
substitute.

(D) More than one of the above

(E) None of the above

Price discrimination is also
called as

(A) average cost pricing

(B) discriminatory pricing

(C) differential pricing

(D) More than one of the above

(E) None of the above

A monopoly

(A) charges higher prices than
competitive firms, if all
other things remain same

(B) produces more output than
competitive markets, if all
other things remain same

(C) is one of the several firms
in the market

(D) More than one of the above

(E) None of the above

24 /HV/M-2023-21/S5 (HS)/245-A

87. Which of the following features
of kinked demand is being
explained in oligopoly?

(A) Product differentiation

(B) Selling cost

(C) Price rigidity

(D) More than one of the above
(E) None of the above

88. The condition of scarcity exists
because
(A) of demand
(B) of supply
(C) there are not enough

resources to produce
everyone’s want
(D) More than one of the above
(E) None of the above

89. The marginal productivity theory
is related to the
(A) demand and supply of

resources
(B) remuneration of resources
(C) concept of scarcity
(D) More than one of the above
(E) None of the above
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84. F=fvflgd @ ¥ -1 e THIIHR

85.

86.

& aR | et 87

(A) THIER ¥ yaw a1 Fem & fog
g e T 2

(B) TH UHIUHRI g o hacHH
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87. ewiusr # fagpfaa #fm @ & frm

88.

89.

forra w1 ferecifia foram e 27
(A) Icurg faediero

(B) fasa @

(C) HcH FSr

(D) 39w | ¥ UH ¥ M+
(E) 3udth # & 1S T

19T i el faemm gt
(A) #f  fog
(B) did % fer

(C) wifer T ot =l 3==1 I & &

(D) 39w H ¥ UH ¥ M+
(E) 3w & 9 18 T
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(B) TEeH o arieafues @
(C) gA9ar it Hehou T ¥
(D) 39Y® | ¥ TH ¥ M
(E) 39w & & *18 7
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90. Quasi rent is a phenomenon of 93. Backward bending supply curve

belongs to which market?
(A) temporary nature

(B) median nature (A) Capital
(C) long-run nature (B) Money
(D) More than one of the above (C) Labour

(E) None of the above (D) More than one of the above

. . (E) None of the above
91. Changes in the rate of interest

affect the amount of money held
for

94. If the actual reward is greater
(A) normal motive than value of risk, then the

company will face
(B) speculative motive panhy

(C) transaction motive (A) loss
(D) More than one of the above (B) profit
(E) None of the above (C) shutdown

(D) More than one of the above
92. The individual labour supply

curve (E) None of the above

(A) shifts downwards if workers’
preference for leisure
increases 95. The output of different goods

and services is valued at
B) is not affected by

technological progress in (A) production cost
production

(C) shifts to the left if there (B) factor cost

is technological progress in (C) market price

production
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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93.

94.

95.

S & AR P e Yfd T R
IR & Fraf-ad 37

(A) I

(B) g1

(C) »m

(D) 39y H ¥ TH ¥ 1M
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96. Which of the following is the

97.

98.

total value of Net National
Product (NNP) at the production
point?

(A) Net National Product (NNP)
at factor cost

(B) Net National Product (NNP)
at market price

(C) Gross National Product at
factor cost

(D) More than one of the above

(E) None of the above

Excess demand for money,
according to Say’s law in the
economy is

(A) greater

(B) very less

(C) equal to zero

(D) More than one of the above

(E) None of the above

Who propounded psychological
law of consumption?

(A) Ricardo
(B) Pigou
(C) Keynes

(D) More than one of the above

(E) None of the above
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99. The

slope of
function is called

consumption

(A) MPS
(B) APC
(C) APS

(D) More than one of the above

(E) None of the above

100. In an open economy, the value
of multiplier is
(A) smaller than that in a
closed economy
(B) bigger than that in a closed
economy
(C) same as that in a closed
economy
(D) More than one of the above
(E) None of the above
101. According to Keynes, the
inflationary gap is caused by
(A) deficiency of supply
(B) deficiency of demand
(C) excess demand
(D) More than one of the above
(E) None of the above
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99, 3NN Held ! &lal &l hal Sl &

100.

101.

(A) wHo Hio THo (MPS)
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(D) 39Y® H ¥ TH ¥ M
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(D) 39w W | TH § Afh
(E) 3w & o 18 T

HE h ITIAR, ThHIGR T Hl
FHRT B
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(E) 39w # & *I$ 7
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102.

103.

104.

105.

Which among the following is
termed as ‘Hot Money™?

(A) FDI
(B) FII
(C) GDR

(D) More than one of the above

(E) None of the above

If the money supply is ¢ 500
and nominal income is 3,000,
then the velocity of money is

(A) 60

B) 1/6

(C) 6

(D) More than one of the above
(E) None of the above

The concept of money illusion
is firstly coined by

(A) Fischer

(B) Marshall

(C) J. M. Keynes

(D) More than one of the above

(E) None of the above

The Disinvestment Commission
was set up in India in

(A) 1991
(B) 1996
(C) 1998

(D) More than one of the above

(E) None of the above
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106. Which is not the key function

107.

108.

of a central bank?

(A) Regulating the  money
supply
(B) Managing the foreign

exchange and gold reserves
in a country

(C) Acting as the lender of last
resort

(D) More than one of the above

(E) None of the above

Where is the Corporate Office of
RBL Bank located?

(A) Bengaluru

(B) Srinagar

(C) Mumbai

(D) More than one of the above

(E) None of the above

“Commercial banks to expand
deposits  through expanding
their loans and advances” is
known as

(A) bank advances

(B) deposit

(C) credit creation

(D) More than one of the above

(E) None of the above
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106.

107.
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(A) gz1 3mafd w1 Tt
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(A) s

(B) R

(C) g
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(A) S fim

(B) ST
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109.

110.

111.

If a good is public good
(A) consumers pay a low price

(B) no one can be excluded
from enjoying its benefits

(C) consumer must pay a high
price to enjoy its benefits

(D) More than one of the above

(E) None of the above

Wagner law is related to

(A) horizontal equity

(B) real equity

(C) vertical equity

(D) More than one of the above

(E) None of the above

Wiseman-Peacock hypothesis
supports in a much stronger
manner the possibility of

(A) a downward trend in a
public expenditure

(B) an upward trend in a public
expenditure

(C) a constancy of
expenditure

public

(D) More than one of the above

(E) None of the above
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112. Which one of the following

113.

114.

is concerned with principle of
maximum social advantage?

(A) Taxation only

(B) Public debt only

(C) Public expenditure only
(D) More than one of the above

(E) None of the above

The ability to pay principle
of taxation is logically most
consistent with the normative
notion of

(A) tax neutrality

(B) horizontal equity

(C) vertical equity

(D) More than one of the above

(E) None of the above

When there is elastic demand for
a product, who holds the tax
incidence?

(A) The buyer

(B) The seller

(C) The government

(D) More than one of the above

(E) None of the above
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115. The burden of direct taxes is

116.

117.

borne by

(A) poor person

(B) rich person

(C) on whom it is levied

(D) More than one of the above

(E) None of the above

The long-term asset

means

capital
(A) capital assets held for more
than 12 months

(B) capital assets held for more
than 36 months

(C) capital assets held for less
than 36 months

(D) More than one of the above

(E) None of the above

In which finance, expenditure is
determined first and accordingly
tries to get revenue?

(A) Private finance

(B) Public finance

(C) Social finance

(D) More than one of the above

(E) None of the above
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118.

To whom do priority sector
loans point?

(A) Loans to commercial sector

(B) Loans being
software industry

given to

(C) Loans being given to small-
scale industries, agri-
culture, etc.

(D) More than one of the above

(E) None of the above

119. What is the period covered by

the recommendation of the 15th
Finance Commission?
(A) Year 2021-22 to 2025-26
(B) Year 2022-23 to 2026-27
(C) Year 2023-24 to 2027-28
(D) More than one of the above
(E) None of the above

120. Who determines the Centre-

State financial relations?
(A) Finance Commission
(B) Planning Commission
(C) National Development
Council

(D) More than one of the above
(E) None of the above
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116.

117.
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(A) e =t

(B) 4R =tk
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118.

119.

120.
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121.

122.

123.

Disguised unemployment exists
primarily in which sector in
India?

(A) Manufacturing

(B) Agriculture

(C) Defence

(D) More than one of the above

(E) None of the above

Which of the
statements is true?

following

(A) Social growth is the modern
concept for development.

(B) Sustainable growth is
the modern concept for

development.
(C) Economic growth is
the modern concept for

development.
(D) More than one of the above

(E) None of the above

Which of the following is
the basic characteristic of
underdeveloped countries?

(A) Low human development
index

(B) Dependence on agriculture

(C) Poor standard of living and
mass poverty

(D) More than one of the above

(E) None of the above
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124. Which Committee was set up
to review the concept of poverty
line?

(A) Suresh Tendulkar
Committee

(B) Wanchoo Committee

(C) Dutt Committee

(D) More than one of the above

(E) None of the above

125. Which of the following does not
explain the term ‘economic
development’?

(A) Improvement in production

(B) Improvement in distribution

(C) Improvement in the
technology involved

(D) More than one of the above

(E) None of the above

126. According to Marxism, which
class will end the capitalist
system?

(A) Elite class
(B) White collar class
(C) Proletariat class
(D) More than one of the above
(E) None of the above
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(D) 39y H ¥ TH ¥ M
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(A) Seure | g

(B) forawor & wifa

(C) =i SrEnfieht § gur
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(E) 39 o & I8 7
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127.

128.

129.

Innovation theory of profit was
given by

(A) Knight

(B) Schumpeter

(C) Hawley

(D) More than one of the above

(E) None of the above

According to W. W. Rostow, the
stages of economic growth are

(A) three
(B) four
(C) five

(D) More than one of the above

(E) None of the above

The theory of big push is based
on which of the following ideas?

(A) Unbalanced growth

(B) Internal economies of scale
(C) External economies of scale
(D) More than one of the above

(E) None of the above
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130. According to Lewis’s model, the
dual economy grows only when
(A) the modern sector increases
its output share relative to
the traditional sector
(B) the modern manufacturing
sector is labour intensive
(C) the agriculture sector uses
modern equipment
(D) More than one of the above
(E) None of the above
131. Vicious circle of poverty operates
from which of the following
aspects of the economy?
(A) From the demand side of
capital formation
(B) From the supply side of
capital formation
(C) Underdevelopment of human
and natural resources
(D) More than one of the above
(E) None of the above
132. In the Solow Growth Model, an
increase in depreciation rate,
lead to which of the following,
if other things remain same at
the new steady-state?
(A) An increase in capital stock
per worker
(B) An ambiguous effect of
capital stock per worker
(C) A decrease in output per
worker
(D) More than one of the above
(E) None of the above
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133. The foreign direct investment

134.

135.

includes

(A) intangible goods

(B) tangible goods

(C) human resources

(D) More than one of the above

(E) None of the above

Which of the following is
a possible benefit of increased
population?

(A) Increased innovation

(B) A decrease in pollution

(C) Economies of scale

(D) More than one of the above

(E) None of the above

The plan that involves some
procedures and rule is known as

(A) programme

(B) strategy

(C) budget

(D) More than one of the above

(E) None of the above
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136.

137.

138.

When jobs are grouped together
based on a particular type of
customer, this is known as

(A) formalization

(B) centralization

(C) departmentalization

(D) More than one of the above

(E) None of the above

The graph that expresses
income inequality has the
characteristic of

(A) inverted U-shaped curve
(B) S form curve

(C) I-shaped curve

(D) More than one of the above

(E) None of the above

The Ohlin model assumes which
of the following as identical
among all the trading countries?

(A) Technologies

(B) Gross Domestic Products
(C) Factor endowments

(D) More than one of the above

(E) None of the above
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136.

137.

138.
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139. The problems of ‘double taxation’

140.

141.
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in international trade can be
overcome by

(A) wunilateral agreement
(B) bilateral agreement
(C) market agreement
(D)

More than one of the above

(E) None of the above

When did the World Trade
Organization come into effect?

(A) April 8, 1994
(B) January 1, 1995
(C) March 6, 1996
(D)

More than one of the above

(E) None of the above

Which of the following is a
reason for India to be a
developing country?

144.

(A) Most people
agriculture

depend on

(B) Scarce capital
(C) Low per capita income
(D) More than one of the above

(E) None of the above

142.

143.

Green Revolution means
(A) grow more crops

(B) high yield variety
programme

(C) wuse of green manure
(D)

More than one of the above

(E) None of the above

The first ever Industrial Policy
Resolution of India was
announced in the year

(A) 1948
(B) 1952
(C) 1955
(D) More than one of the above

(E) None of the above

Which of the following is a micro-
finance programme?

(A) Local village bank
(B) SBI

(C) Self-help group
(D)

More than one of the above

(E) None of the above
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145. The sectors are classified into
public and private sectors on
the basis of

(A) ownership of enterprises
(B) employment conditions

(C) the nature
activity

of economic

(D) More than one of the above

(E) None of the above

146. What is the effective measure of
poverty alleviation?

(A) Encouraging private
investment

(B) Controlling inflation
(C) Distribution of income
(D) More than one of the above

(E) None of the above

147. Who among the following
suggested poverty line of ¥75
per capita per year?

(A) The  National
Committee (1938)

Planning

(B) The Bombay Plan (1944)
(C) The Working Group (1962)
(D) More than one of the above

(E) None of the above
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148. Which measures of dispersion
are used to compare the
distribution of two or more data
sets?

(A) Relative measures of
dispersion

(B) Absolute measures of
dispersion

(C) Coefficient of dispersion

(D) More than one of the above

(E) None of the above
149. The slope of the regression line
of Y on X is also referred to as
the
(A) regression coefficient of X
onY

(B) regression coefficient of Y
on X

(C) correlation coefficient of Y
on X

(D) More than one of the above

(E) None of the above

150. What will be the value of X
for which the value of cosX
is minimum?

(A) O
B) 1
) -1
(D) More than one of the above
(E) None of the above
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Note : English version of the instructions is printed on the First Page of this Booklet.
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